4011-3 SMALL BLOCK FORD WINDSOR BI-MOUNT SLOT DRIVE KIT

24264 Stud Collars
14042 Slot Drive
2-5314 5/16 Flat Washer

2-5316 5/16 - 24 Nut :
1-240L050 Belt
4 -25201 Lock Washers

FUEL INJECTION SYSTEMS
1-800-513-FUEL 1-4015-1  BBF Spud Blk Pump ‘

1-4018 18 Tooth Pulley

14020 36 Tooth Pulley
1-5250 5/8 Lock Washer
1-5220 5/8 Thick Washer
15265 5/8x6" Bolt

1-8507 Bkt SBF Gold Mount
25260 Spacer SBF 1 1/8 Gold Mount
2-5255 Stud SBF 5/16x5 3/4
5/16 - 18x11x1 1/2 Stud

Rona Racing Producta 3248 E. Miloer Tucson, Arizona B6714 fax: 520-294-4062 phone: 520-624-8780



